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Question 01.

Part (A).  Ashirtoriginally cost $12.50 but is now offered for sale at 20% off. What is

the sale price of the shirt? STEPL
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Part (B). A pair of shoes originally cost $120 but is now offered for sale at T0%

What is the sale price of the pair of shoes? . &
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Part (C).  What is the total amount saved in Part (A) and (B) above?
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Question 02

You purchase a skateboard that is being sold for 25% off the original price.

The original price is $20 more than the sale price. What is the original price of the

skateboard?
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Question 03 q)g 0
Part (A). A backpack costs $35 plus a tax of 8%. What is the total cost of the backpack?
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Part (B). A suitcase costs $115 plus a tax of 12%. What is the total cost of the suitcase?
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Part (C).  What is the difference between the total costs in Part (A) and (B) above?
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Question 04

A television was originally being sold for $250. Now it is being offered at $200.

What is the percent discount?
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You drink 2 ounces of your 12-ounce sports drink.
What percent of the drink do you have left?

Round your answer to the nearest hundredths.
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